a-a |

b-b

e

0

EX

/ % V]
| I e
I —— L 2 =
erké|1 216] Tg D E I
A k32
R okste 35,02+16,6/m2 | |
0 1 -Z
= ' o', |
E kil L.
= kamraszekrény 40/602;<§ ml z Y
B L=
= =
g 7
g =
1.50
274
N =
B
L1 s20bg kﬁﬁ. Z g2 ||
Sm= 0 parketta ;
=== = | |
L] - o
7 XT% i 132
210 7 . | -
: s | Al 2007 m2
= g T F L 1 i m
2! K 2 | | 7
= = g ’ - eldterasz
o0 D: * O £ l 3 Mttt -1
e L = | S | ] B e ton
S tégla, koracé! kandallo % A % ~ ‘ S ¢ AL A LTS
§_ % L |lF
(1] | |
D E T komroszekrény 80,/40 | o __
|
00 ! 2 B g
31 U '] kamro g ! 22,56m2 | pmmmssssszssa==s
120,12+18,98 m2+. ot 12| =
| 2% U T
2 o L e viragay
< 1 | qardrGbrkiz, faldg gy
g | | paketio 48T m2
‘ 8,62m2 o = .
L > 8 3.05
,,,,, z L2 £ 221
R T ] bejdrat 2 = -
7 e . kdlg -
80 y/s1. firds 7,8m2 E 3eimll | o
210 R0~ s~ ] = e
L —— J— ? iivildgitd @
l=========1=°'==.°19======== —‘ kﬁZ|eked6 ‘QE 82‘
o3| e parketta
210
____________________ 2
____________________ s70ba 6,88 m -
____________________ parkeia * = ==
““““““““““ 14.24m2 : = ~
erkély R | I =
B 7 I ——porkefia— | | sz0ba sz0b
]550 m2 : ! 5,76 m2 'm kOHYh(l hﬂ" parketia parketta
ML ——— B ' : At purketto 10,07 ma 8,64m2
| ! 90 E=S) 10,08 m2 4 "
m=m=mmmms===s======s - o.oé-"lla pm: 000 | 11— pm: 0.00
7 Y ———
4] % . —
82 g3 I-31 g
737742019 m2
AT e mmmmmmmmmmm—ee
= nappol e
= purkett
226 g | 2530m mmmmmmmmmmmmmmmm—ee-
— ‘ ‘ 193" hoppde
210 S |11 1./ S
% %Y
= v
/-] lepesd 7 //AI 0.00} 000 L
kap T B0 P D ™ e
10 m2 75 kélop b
P —— s ﬁ 710 J9m2 ﬁi?keﬂu
] (1)8 T e 7 9.67 m2 sz0ba
: @ | fiirdg
kp || parketta
Hj E 374m 13,13 m2
Ia B PN
|' L) 0] ol o
310) || 2  nappali kelap ' 0 e 90
0] | & pur?(gnu Iéggyfmbédlﬁ 909m | kelap o o0 - ﬂ
' 17,78 m2 1056 m2 'M7 7 E N ______gjs___\_\_J
0 IEEERRE g s [T T
7 = pm: 0.00 £ 289
eg 7 e T T A A A
= 3 31 bbbl
- 70.94+52.33 m2 (T T T B
Il Il Il Il [} [}
i EEREE
op
o BEEEE

b-b

C-C |

0-0




